ROBSTAR Oddziat Dronexpert.eu & UAVO.TV
Authorised Reseller DI

ul. Ozarowska 61, Warszawa

tel. 501832306, 507273177, 501750577

Dane aktualne na dzien: 28-03-2024 13:15

Link do produktu: https://dronexpert.eu/rama-hglrc-veyron35cr-35-inches-pusher-cinewhoop-frame-p-15233.html

Rama HGLRC Veyron35CR 3.5
Inches Pusher Cinewhoop frame

Cena brutto 246,46 zi
Cena netto 200,36 zt
Producent HGLRC

Opis produktu

HGLRC Veyron35CR 3.5 Inches Pusher Cinewhoop frame

Features:
*Inverted 3.5-inch propeller guard design,long flight time, easily supporting a complete GoPro
*Mold propeller guard combined with EVA foam protection, safe and durable

Brand Name: HGLRC

Model: Veyron35CR Pusher frame
Material: 3K carbon fiber

Type:3.5 inch frame

Wheelbase: 155mm
Size:131*131mm

Top plate: 2.5mm

mid plate: 2.5mm

Base plate: 1.5mm

Space: 28mm

FC mounting hole: 20x20mm/25.5x25.5mm
Supported camera:19*19mm
Motor mounting hole:12*4/16¥4mm
Weight: 113.49

Shipping list:

1x 2.5mm top plate

1x 2.5mm Mid plate

1x 1.5mm base plate

4x 3.5 inch propeller guard

6x EVA Foam protection guard (2 black, 2 gray, 2 yellow)
1x EVA landing gear

2x M2*¥28mm black mesh Aluminum pillar
2x M2*8mm black Aluminum column
1x screw M5*20

4x screw M3*25

1x screw M3*20

4x screw M2*18

4x screw M2*9

2x screw M2*7

10x screw M2*5

2x screw M2*4

1x M5 self-locking nut

5x M3 self-locking nuts

4x M2 self-locking nuts

4x M3*8 shock absorbing ball

4x M2*0O type shock absorbing ring
2x battery tie 15x200mm

1x battery non-slip mat

wygenerowano w programie shopGold


https://dronexpert.eu/rama-hglrc-veyron35cr-35-inches-pusher-cinewhoop-frame-p-15233.html

ROBSTAR Oddziat Dronexpert.eu & UAVO.TV
Authorised Reseller DI

ul. Ozarowska 61, Warszawa

tel. 501832306, 507273177, 501750577

1x TPU GOPRO seat holder
1x TPU bare GOPRO holder
1x TPU antenna base

1x TPU camera mount

1x TPU lens protector

Recommended parts:(not included)
Flight controller: Zeus35 PRO/F722 MINI
Motor:1 8XX/20XX/21XX

ESC: Zeus25A-45A

Camera: 19X19mm

Propeller:3.5 inches

Battery: 45/6S 1000mAh-1300mAh

FPV frame Assembly Guide for Veyron35 CR Pusher

Aluminum column/$3t

Ce——=2r
7 n~7tv-\!é:
/ IS

= T~

a [ I3

o
g
po

GoPro fixing base/% & &l & &
'—
M2X7 Cup head screw /24
D | [ o S—
i

Top plate/Titf

Mid Plate/i

Carbon Fiber list

1.5mm Base plate//E#R
2.5mm Top plate/Ta#R -

1

2.5mm Mid plate/F#f ------m--semeemeenm 1

M3x25mm Screw_
1= 4
1) @3 M2x18mm screw._ 4,
@@j M2x12mm Screw 2

M2x9mm Screw__ 4

M2x7mm Screw. )

M2Smm Screw 1)

M2x4mm Screw. D

Aluminum pillar
')

M2x28mm Aluminum column 2

E M2x8mm Aluminum column 2

TPU list

(8 TPUAntenna ba: 1
@D Black TPU GoPro fixing base/J B B & ----------------~ 1
@ Black TPU Naked GoPro fixing base/#& ) EE Bl fE i --------- ]
(@3 TPU Black Camera mount/ s Sk EE -—--------------—- 1
@ TPUBIack Lens protector/ifiSk{R i -------------------- 2

EVA list

@5 EVAProtection half circle/EVA

,,,,,,,,,,,,,,,,,,,,,,,,, 6

wygenerowano w programie shopGold


http://www.tcpdf.org

